a=q /i[5

il

2l

yix i KHBFIL, x= 4 obx, y= 16 TY,

Dy xORXTERLARI WV,

@ x= —8DrE, yofizkdird\n,

@ y= 32 DLE, xDfEERDL TV,

ylixxicKEFIL, x= 10 ot &, y=

@yzExoRTELAEI W,

® x=—-150t %, yDfizkdiR X\,

©®y= —-5DLE, xDEERDE I,

6 <,

yiExic KL, x= 6 orE, y= —4 T,

DykxDRTRLEI W,

x=—120L %, yOEZzRDE I,

@ y= 8 D&E, xDEiERDL I,

ylx KHEHIL, x= —18p k%, y=

yEXxDOHXTERLAES WV,

@ x= —20L&, yoffizRok I,

@ y= —90LE, xOfizRkdALIn,

3 TY,

/12




a=q /i[5

®# 4EG

yix i KHBFIL, x= 4 obx, y= 16 TY,

Dy xORXTERLARI WV,

@ x= -8 DLE, yofizRkdh I,

@ y= 32 DLE, xDfEERDL TV,

ylixxicKEFIL, x= 10 ot &, y=

@yzExoRTELAEI W,

® x=—-150t %, yDfizkdiR X\,

©®y= —-5DLE, xDEERDE I,

/12

6 <,

yiExic KL, x= 6 orE, y= —4 T,

DykxDRTRLEI W,

x=—120L %, yOEZzRDE I,

@ y= 8 D&E, xDEiERDL I,

ylx KHEHIL, x= —18p k%, y=

yEXxDOHXTERLAES WV,

@ x= —20L&, yoffizRok I,

@ y= —90LE, xOfizRkdALIn,

3 TY,

64

y= X
y= -8
X = 2

60

y= X
y= —4
X = —12

_ 24

y= X
y= 2
X = -3

- 54

y= X
y = 27




